
Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656



Parts Breakdown
Model MS-IT-0330-H 13656

Item No. Description Position Item No. Description Position Item No. Description Position

17272 Sharpening Assembly (Support & Stones) 
for 13656 A1003 19639 Nut M8 for 13656 D0135 17377 Spring 8.5x1.0x25 Stainless Steel for 

13656 M7013

78234 Sharpener (Support + Stones) for 13656 A1021 17337 Nut U5589 M10 6S for 13656 D0137 17379 Spring 11.9x0.7x27 Stainless Steel for 
13656 M7029

17279 Ring EL.Benzing 5 for 13656 A5403 36640 Domed Nut U5721 M6 Stainless Steel 
for 13656 D0153X 17380 Spring 13.4x1.3x30 Stainless Steel 

for 13656 M7030

17280 Ring EL.Benzing 5 for 13656 A5404 19643 Nut M10 for 13656 D0157X 19776 Spring 14 x 1.5 x 60 for 13656 M7032

16902 Ring EL.Benzing 8 for 13656 A5406 19644 Nut M6 for 13656 D0163 17381 Spring 22 5x1 8x18 for 13656 M7052

17281 Ring EL.Seeger Ext.25 for 13656 A5453 36646 Nut U5588 M6 Stainless Steel for 13656 D0163X 19248 Spring 15.6x20x2.2 for 13656 M7120

19484 Ring 52 for 13656 A5485 36647 Nut U5588 M8 for 13656 D0165 20459 Terminal Strip for 13656 M8005

19612 Ring 33 for 13656 A5495 19645 Nut M10 for 13656 D0167 19791 Oiler Oil Cap with Screw for 13656 O4040

17283 Oil Seal 25x52x10 for 13656 A5809 19547 Nut for 13656 D0190 17390 Rubber Shock Abs. 16x22x2.5 for 13656 P1019

17287 O-Ring 123 17.86x2.62 for 13656 A5852 19648 Knife Spacer for 13656 D5602 19796 Plastic Shock for 13656 P1031

17290 Carriage Bar for 13656 B1010A 17341 Spacer D.10.5x14 H.9 for 13656 D5643 17392 Pl.Shock Absorb.8.5x20 for 13656 P1034

19496 Carriage Rod for 13656 B1095 19553 Meat Grip Spacer H for 13656 D5685 36761 Shock Absorber for 13656 P103401

36548 Shock Absorber Bar 12x170 for 13656 B1251 39410 Space Aluminum for 13656 D5690 16955 Shock Absorber for 13656 P1059

19507 Carriage Rod A310 for 13656 B1372A 36661 Carriage Shock Absorber Spacer for 
13656 D5762 17395 Shock Absorber for 13656 P1081

17296 Tray Rod for 13656 B1399 30459 E1406 Stop Cam for 13656 E1406 19805 Deflector for 13656 P1150

16904 Bushing Sharpener for 13656 B6048 17342 Cam mm15 for 13656 E1420 17406 Slicer Deflector for 13656 P1183

16905 Bushing DU 16x18x15 for 13656 B6053 19559 Cam 25mm for 13656 E1422 36764 Slice Deflector for 13656 P133321

17304 Bushing for 13656 B6056 17345 Cam Bearing for 13656 E1458 17412 Knife Guard for 13656 P1550

17305 Bushing DU 18x20x15 for 13656 B6057 36681 Cord Holder for 13656 F2809A 17415 Strain Relief for 13656 P2008

19514 Bushing Guard A310 for 13656 B6061 17347 Knife Support Flange for 13656 F6033 60421 Electrical Conduit for 13656 P2011

16906 Bush Sharpening for 13656 B6075 17349 Handle Flange for 13656 F6090 19811 Pin Sharpener for 13656 P3205

16907 Bush Sharpening for 13656 B6076 17351 Locknut for 13656 G5018 16959 Pin Grinding for 13656 P3225

17307 Bushing Sharp. for 13656 B6083 36688 Locknut for 13656 G5022 17419 Pin Truing for 13656 P322601

78265 Bushing Funnel for 13656 B6110 17355 Handle for 13656 I1911 17422 Pin Deflector for 13656 P3269

17312 Bushing 22x25x20 for 13656 B6211 19587 Sharpener Knob for 13656 I1957A 19822 Pin Handle Meat Grip for 13656 P3288A

36566 Bushing to hold Carriage Springs for 
13656 B6221 36707 Switch Handle for 13656 I1980 19824 Pin Guard Knife for 13656 P3377

17313 Bushing DU 14x15x16 for 13656 B6244 18222 Rod Meat Grip Handle for 13656 I1984 17426 Assy Honing Stone Pivot for 13656 P3380

36577 Meat Grip Arm for 13656 B7803A 62453 Nylon Gear for 13656 I2404 17427 Assy Grinding Stone & Pin for 13656 P3381

16909 Sharpener Cover for 13656 C1603 78585 Switch 380/50/3 for 13656 I3610 78233 Pin Sharpener for 13656 P3387

36590 Carriage for 13656 C1854 16938 Switch and Knob for 13656 I3611 19825 Pin Support Meat Grip for 13656 P3394

20423 Pin for 13656 C4620 17369 Switch 4x20 for 13656 I3647 36801 Pivot Sgancio Sharpener for 13656 P3525

36601 Rivet 1.9x5 for 13656 C4640 36723 Switch 4x25 for 13656 I3678 36808 Tray for 13656 P4420A

17325 Capacitor 8uf for 13656 C5806 13598 Blade 330 57x4x270 for 13656 L0608 36811 Tray for 13656 P4441A

19534 Housing Sharpener H for 13656 C6807 36731 Lamp 220V. for 13656 L1010 36823 Tray Assy for 13656 P4559

19535 Rack for 13656 C7241 36733 Magnet 8x10 for 13656 M0803 36824 El. Box Flat Bar for 13656 P4618

19637 Nut M3 for 13656 D0101 36734 Magnet 12x6 for 13656 M0804 19831 Gauge Plate Flat Bar VS for 13656 P4621

36634 Nut U5587 M3.5 for 13656 D0104 14787 Grinding Sharpening Stone 48x15x14.3 
for 13656 M6602 19832 Flat Bar for 13656 P4651

16928 Nut U5589 M6 for 13656 D0133 36741 Spring 2.9x4x12 Stainless Steel for 13656 M7001 18221 Slide Rail Flat 20x400 for 13656 P4815



Parts Breakdown
Model MS-IT-0330-H 13656

Item No. Description Position Item No. Description Position Item No. Description Position

16961 Foot for 13656 P5008 19680 Ball 3 17 for 13656 S3005 19696 Screw M3.5x12 for 13656 V6204

36844 End Grip Assembly for 13656 P6717 17465 Ball 4.76 for 13656 S3015 19699 Screw M4x25 for 13656 V6231

19655 Meat Grip Stud for 13656 P7420 36924 Pin M.E. U6875 6x30 for 13656 S7546 37037 Screw TCEI U5931 M6x16 for 13656 V6240X

16964 Stud Guard Knife C for 13656 P7425 19688 Pin 2x12 for 13656 S7552 19702 Screw M6x25 for 13656 V6246

17444 Stud Carriage for 13656 P7431 17475 Pin 8x42 for 13656 S7583 19704 Screw M10x16 for 13656 V6262

36854 Thumb Protection for 13656 P7854 17476 Foot Support Pin D.10 M8 L.37 for 13656 S7595 37047 Screw TC AUT.D7971 2.9 x 13 for 13656 V6276

24030 Sharpener Operating Handle for 13656 P8625 19871 Bracket Sharpener for 13656 S8809 19913 Screw M8x45 for 13656 V6331

19657 Washer 4 for 13656 R6003 36936 Bracket Tray for 13656 S8813 37061 Screw TE U5739 M8x35 Inox for 13656 V6411X

19661 Washer 8 for 13656 R6030 36937 Bracket for H Series Plate Rod for 13656 S8818C 37070 Stainless Steel Screw TE U5739 M6x20 
for 13656 V6449X

36876 Washer 6.2x12.5x0.7 Stainless Steel 
for 13656 R6204X 19873 El Box Bracket for 13656 S8901 37076 Screw TE Tril.D7976 M6x15 for 13656 V6496

19666 Washer for 13656 R6280 36952 Magnet Support for 13656 S8991 37078 Stainless Steel Screw TSP U6109 
M5x12 for 13656 V7013X

36880 Washer U6592 3 for 13656 R6504 77597 Washer Bracket A310 for 13656 S9009 17498 Screw TSPEI U5933 M4x10 for 13656 V7043

16967 Washer U65926 for 13656 R6512 24158 Pusher Rod Support for 13656 S9226 19713 Screw Sharpener for 13656 V7710

17457 Washer U6592 6 Stainless Steel for 
13656 R6512X 19877 Rubber Cap for 13656 T1001 37091 Screw H for 13656 V7730

19668 Washer 10 for 13656 R6530 20265 Tierod for 13656 T5004 17503 Screw M5x13 for 13656 V7908

17458 Contact Washer for 13656 R6806 17491 Knife Shaft Assy for 13656 T8024 19715 Screw Sharpener for 13656 V7910

36889 Washer 10.5x16x1 for 13656 R6816 24033 Bracket for 13656 T8510 17504 Bar Screw M6x14 Stainless Steel for 
13656 V7915

16969 Washer 18.2x25x0.5 for 13656 R6840 78586 Plastic Bar lg.200 for 13656 T9603 19717 Screw M6x50 for 13656 V7917

17460 Washer 34.2x46x0.5 for 13656 R6846 37006 Gauge Plate for 13656 V3050 19720 Screw M6 for 13656 V7934

19674 Washer 44.5x51.5x0.2 for 13656 R6848 37017 Screw STTC U6113 M4x30 for 13656 V6009 19917 Screw BS for 13656 V7960

77596 Switch Washer A310 for 13656 R6864 37023 Screw STEI U5929 M5x5 for 13656 V6065 19724 Screw H for 13656 V8001

36892 Washer 17x30x4 for 13656 R6874 19691 Grub Screw M6x6 for 13656 V6066 37098 Screw M10x40 for 13656 V8012

16972 Washer 5.5x19x2.5 for 13656 R6884 19692 Screw M6x8 for 13656 V6067 19920 Screw M8x30 for 13656 V8036

78576 Washer for 13656 R6931 23648 Screw For H350 for 13656 V6073

16973 Plate Wheel D.25x9.5 for 13656 R8520 37032 Screw TC 6107 M3x20 for 13656 V6201


